
SAP ABAP table /BEV3/CHBTMANWE {Agreement Date Statement}

_BEV3_CHBTMANWE

MANDT [CLNT (3)]

YVWDNR [NUMC (13)]

VBKL [CHAR (4)]

RI [NUMC (6)]

VBIN [NUMC (4)]

VBNR [NUMC (9)]

ANWKRS [NUMC (4)]

ANWINST [NUMC (4)]

ANWFORM [NUMC (4)]

VBKL_BCHNL3 [CHAR (4)]

RI_BCHNL3 [NUMC (6)]

VBKL_DESKL3 [CHAR (4)]

RI_DESKL3 [NUMC (6)]

VBKL_MZL3 [CHAR (4)]

RI_MZL3 [NUMC (6)]

VBKL_STATL3 [CHAR (4)]

RI_STATL3 [NUMC (6)]

VBKL_WL3 [CHAR (4)]

RI_WL3 [NUMC (6)]

VBKL_AVANW [CHAR (4)]

RI_AVANW [NUMC (6)]

VBKL_PTANW [CHAR (4)]

RI_PTANW [NUMC (6)]

CHVTANWBDG [NUMC (4)]

BEDINGG63 [NUMC (4)]

BEDINGG64 [NUMC (4)]

BEDINGG65 [NUMC (4)]

_BEV3_CHCBDG

MANDT [CLNT (3)]

BEDINGG [NUMC (4)]

 /BEV3/CHBTMANWE-BEDINGG63 = /BEV3/CHCBDG-BEDINGG 

0..N

1

 /BEV3/CHBTMANWE-BEDINGG64 = /BEV3/CHCBDG-BEDINGG 
0..N

1

 /BEV3/CHBTMANWE-BEDINGG65 = /BEV3/CHCBDG-BEDINGG 0..N

1

 /BEV3/CHBTMANWE-CHVTANWBDG = /BEV3/CHCBDG-BEDINGG 

0..N

1

_BEV3_CHCTRGI

MANDT [CLNT (3)]

RGIDENT [NUMC (6)] /BEV3/CHBTMANWE-RI_PTANW = /BEV3/CHCTRGI-RGIDENT 0..N

1

_BEV3_CHCTTMABRF

MANDT [CLNT (3)]

ABR_FORM [NUMC (4)]

 /BEV3/CHBTMANWE-ANWFORM = /BEV3/CHCTTMABRF-ABR_FORM 
0..N

1 _BEV3_CHCTVB

MANDT [CLNT (3)]

VBKLASSE [CHAR (4)]

 /BEV3/CHBTMANWE-VBKL_PTANW = /BEV3/CHCTVB-VBKLASSE 

0..N1

_BEV3_CHTBRI

MANDT [CLNT (3)]

VBKLASSE [CHAR (4)]

RGIDENT [NUMC (6)]

 /BEV3/CHBTMANWE-RI_AVANW = /BEV3/CHTBRI-RGIDENT 

0..N

1  /BEV3/CHBTMANWE-RI_BCHNL3 = /BEV3/CHTBRI-RGIDENT 

0..N

1
 /BEV3/CHBTMANWE-RI_DESKL3 = /BEV3/CHTBRI-RGIDENT 

0..N

1
 /BEV3/CHBTMANWE-RI_MZL3 = /BEV3/CHTBRI-RGIDENT 

0..N

1

 /BEV3/CHBTMANWE-RI_STATL3 = /BEV3/CHTBRI-RGIDENT 

0..N

1

 /BEV3/CHBTMANWE-RI_WL3 = /BEV3/CHTBRI-RGIDENT 

0..N

1

 /BEV3/CHBTMANWE-VBKL_AVANW = /BEV3/CHTBRI-VBKLASSE 
0..N

1

 /BEV3/CHBTMANWE-VBKL_BCHNL3 = /BEV3/CHTBRI-VBKLASSE 0..N
1

 /BEV3/CHBTMANWE-VBKL_DESKL3 = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHBTMANWE-VBKL_MZL3 = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHBTMANWE-VBKL_STATL3 = /BEV3/CHTBRI-VBKLASSE 

0..N

1

 /BEV3/CHBTMANWE-VBKL_WL3 = /BEV3/CHTBRI-VBKLASSE 

0..N

1

T000

MANDT [CLNT (3)]

 /BEV3/CHBTMANWE-MANDT = T000-MANDT 

0..N

1


